


2 days? ;
. How many hours in ,
if 7th January is @ Tuesday, what day 1S 14th January?

What is the cost of two books at €4.50 each?

6. Find the sum of the even numbers in this set:

{13, 14,15, 16, 17}.

_ The Moon is @

8 g+9+. =24
g. This pictogram shows the eggs sold in a shop in one day

How many €ggs were sold? m OO/\:/\

GGQ 6 eggs -—; = 3 eggs

10. The sum of three numbers is 24. If two of the numbers are 9
and 8, what is the other number?

(cylinder, cone, sphere) in shape.

ch two numbers have a difference of 9: {18, 7, 16}?
h two of these numbers add up to 30: {10, 12, 16 18}?

on of this shape is shaded?
. B

- old ¢0ml 25le, or 400ml of liqmd?
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Score




f oy many grams heavier

s H late bar? oo Answer B
o chocolate bar: 1209
= s,
it 25, 4.4
g, lsthis time 8 0 or 5.40? 2| 7 53‘(0‘“
o & 3| £ 28
at is double 16? _ " 2/
alemonade bottle is a __ (sphere, copg - .
2 Finish the pattern: O '”def in shape, 5| g2 |
E . 6‘ l
g. The sum of three numbers is 25, 7.
ff wo of the numbers are 9 and 7, what is the ot
9. What number goes at A? 5 X3 other number? o 1
>
A Ry 10. 3 k -
10. It takes Ciara 10 minutes to run 1 kilometre.
How far might she run in 3 an hour? Score .
’ :I % Answer
1. Teke 20 from 200. . 7
2 Mary has three 10 cent coins and two 5 cent coins.
_ How much has she altogether? o £ c
‘many minutes between half past 12:and 10°¢lo¢ 3| 20mis
fize is shared equally among 8 children. o
n of the prize does each child get? iR
1000 grams makes a kilogram) o A
it a desk for 2 children. 6.
e needed for 15 children?
7L €
8| [O
W 8,0
ol £ |
Score




